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c ) A temporary endeavor undemken to m

d. A collection of activi h a beginning
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2. A program is defined (as per PMI- PMBOK) as:
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27. What does a resource

a.) Time

b. Activity

¢ Interrelationships

4. The person in charge of each lcm
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38, Identify stakeholders and develop pr¢
a. Planning
b. Controlling
¢. Executing
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40. Exercise
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How are we doing in schedule? Calculate SV &SPI € 3
How are we doing in budget?: teCV & CPL >
What was the initial budget letion? '
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Calculate Estimate to complete? ET

Calculate variance at completion VAC






